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Question Id : 6326863329 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
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Question Numbers : (1 to 20)

(i) Data Sufficiency (Marks: 20)
ST 0H HTSEd (oortoyen: 20)



Note: In questions numbered 1 to 20, a question is followed by data in the form of
two statements labelled as (I) and (Il). You must decide whether the data
given in the statements are sufficient to answer the questions. Using the data
make an appropriate choice from (1) to (4) as per the following guidelines:

(a) Mark choice (1) if the statement (1) alone is sufficient to answer the question,
but (Il) does not answer the question.

(b)Mark choice (2) if the statement (I} alone is sufficient to answer the
question but (I) does not answer the question.

(c) Mark choice (3) if both the statements () and (ll) are sufficient to answer
the guestion but neither statement alone is sufficient.

(d)Mark choice (4) if both the statements (1) and (ll) together are not sufficient
to answer the question and additional data is required.

BtdeS: 1 OB 20 SBF FD S (983 (54 So 2.8 (59, T 18od |, 1l
e o Bodh (WDSDTren SToorr QIH[DTTON. QAW )D
ATOTR)) GOIrAoD), WD)IN |DIDTren (DE)IN  QArFEEQ),
[DJOOH DHoETen @iy Bor @ 0 dTdord). &
QPS50 1806 SrP 88 drEren GHT3rRod (1) od (4) SB35 D6
0N BTV OnE DALOA.

(@) 1DF)H0 DATEW0 D JOHE [DAIN0 (1) SFehad DT g0, (II) D
DIAPLTOWD SOENFS 2 2372 (1) T o0&,

(b) (%150 DTG0 BT JONEL 1DDBS0 (1) 55D Dogadedow, () D
DEFEHWS BIS b 22w (2)  Hlosod.

(€) 10¥)1%0 Jdrordo 2TH0%0 1HSSaen (1), (1) 0 HT 0N
00 &) 2,863 e HT N0 SEFS 2 2o (3) T hlood.

(d) (2350 DATFEH0 DD )0HE (Dddren (1), (1) $ §ra Horg0 578
@555 BT030 ©508D0DS 0 22D (4) ™ oSk,

Sub questions

Question Number : 1 Question Id : 6326863330 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



For integers p,q,r, is p < q 7

p,q, 7 O JTOSOH p < g ©eYHOTT?

(1) q<p+tr.

(i p*+q*+ri=0.

Options :
1. # 1
2. %2
3.%3
4. ¥ 4

Question Number : 2 Question Id : 6326863331 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Is the positive integer p divisible by 11557

115583 Qe T 080 p AIN0T 27RO 2¢HOTT?

(1) 165 divides p.
p o 165 2rAe o) .

(I) 735 is a factor of p.
p 50 735 2.8 s°Osaro¥o.

Options :
1. %1
2. %2



3.¢3
4.% 4

Question Number : 3 Question Id : 6326863332 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many triangles can be formed using the given points in a plane?

2,8 500 568 D0NHODNTBIAOD D), 1632D&5°r%D 057D
DaAdersn?

() There are 10 points given in the plane.

&3 50065 10 0CNHEN @I DA,

() No three given points are collinear.

D K DochHerr HOPATED S,

Options :
1. %1
2. %2
3.43
4. % 4

Question Number : 4 Question Id : 6326863333 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the price of a chair?

&3 508 A8 D0eb?

() The price of a chair and a table is Rs.7500.
2,8 508 85w 2,8 22 B B 7500.

(I  The cost of two chairs is Rs.5000.
S0 $u8ye> &5 &, 5000.

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 5 Question Id : 6326863334 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the value of the odd positive integer n ?

363 2320 QoS n DeEN) DOEh ?

(1) 30 < 7n < 45

(I 75=3n>33

Options :
1.¥1
2. %2
3.%3



4. % 4

Question Number : 6 Question Id : 6326863335 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Is 10, a factorof n + 5 ?

n+ 530 10 2,8 50083707

(1) n is an odd number and divisible by 9.

n 2,8 230 DO NN @& 9T 2rRotdachH .

() nis an even number and divisible by 5.

n 2.8 ABD0DE SO 9 533 2rNO0TIDCH .

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 7 Question Id : 6326863336 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the cost of laying an outer circular track around a circular

ground?

2.8 DTS N0 JIENNAFT Y HEY® 2SI TETY
9305 DD, DOCh ?

() The width of the track is 3 meters.

€3 278 DG 3 .

() The cost of the laying the track is Rs.500/- per square meter.
5.2, 2PRE BTN oD D) B°.500.

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 8 Question Id : 6326863337 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the sum of the first 20 terms of an Arithmetic Progression?

@0FFAS D B0CHE3 20 DS JBHID DOeh?

() The common difference of the Arithmetic Progression is 5.

s e90% |3 ABNEY DT 0B 5.

()  The 5™ and the 7" term of Arithmetic Progression are 13 and

17 respectively.

23 @OBFAS D 55 SHOAN 75 DTTeN IS 13 HBAIN

17e0.

Options :
1. %1
2.92
3.%3
4. % 4

Question Number : 9 Question Id : 6326863338 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If a =5, whatis the average ofa,band ¢ ?

a="5, @ONAD, a,b DOA ¢ © SfeN doeh?

(I)  The difference between b and c is 8.

b,c © 23¢50 8.

(I Thesumofbandcis 19.
b SHBA ¢ © Jnedo 19.

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 10 Question Id : 6326863339 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If m, n are positive integers, is mn an even number ?

m,n €0 A FTOSO0NS, mn DEJ0DS €95 0rT?

(1) m + n is an even number.
m +n 28 QB80S

(I m+ nis an odd number.
m +n 28 B0 doWS.

Options :
1. %1
2.9 2



3.%3
4.% 4

Question Number : 11 Question Id : 6326863340 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In how many days two persons A and B working together can complete

a piece of work?

2,5 HAD AR Ss8ven A HBOW B e £ Q) FrersS 8
DoDHe?

() A alone can complete the job in 10 days.

A 2.4,3 & 5D 10 BeS 578 Tohiseres.

() B alone can complete the job in 12 days.

B 24,3 & DD 12 B2S 8 Tabrserch.

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 12 Question Id : 6326863341 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the present age of the father?

€3 0| QINEY (0D HONAD) )OeH?

()  The sum of the present ages of the father and the son is 40.

& B$O|ASTLZV® (DN SN )& o 40.

()  Five years ago, the fathers age was 5 times that of his son.
DCDN0NS T (1§50 O AT DODAD), @D
§CHEY DADIBY 5 TLY GOSHIA.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 13 Question Id : 6326863342 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is rate of simple interest?

DS S Ben Doeh ?

(1) Principal is Rs.10000.
e ¢85°.10000.

(1)  Interest is Rs.1280.
358 . 1280.

Options :
1. # 1



2. % 2
3.%3
4.9 4

Question Number : 14 Question Id : 6326863343 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the rectangle ABCD, which of the triangles AED and AEC has larger

area?

ABCD & t5e 3|00 &S AED 08050 AEC (82D2reeS B8 D80}

STEF0 5OCN?

(1) BE = EC

() AC = AE

Options :
1. # 1
2. %2
3.%3
4. 4

Question Number : 15 Question Id : 6326863344 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the lateral surface area of the cone?

F0800) O30T 1052650 JIF" D0 0eh?

() Volume of the cone is 9 w cm?®.

08059 DBVEY NRDBATEI0 9 O0.4D.2

()  Semi vertical angle of the cone is 30°.

0505 358800 30°,

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 16 Question Id : 6326863345 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the rank of the student A in the class?

$EHBS” D5 A BwE) T°050 DOeh?

()  The class has 25 students.

&3 SSHRS 25008 Drshen .

(1) There are 13 students in the class who scored more marks than
A
3 SSHBS ABS) DBV SKEN FOBITH 13008
T sen Ferdd.



Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 17 Question Id : 6326863346 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among four people P, Q,R and S, who is the tallest?

P, Q R DO S @ S5enHth s3550e>6 o3t eoedsoeh Pcsiid?

(1) R is shorter than Q.
Q 85) R 6580705 08 Eerarcd.

(I  Qis taller than P, but shorter than S.
Q @SB P 55) B8, 550 S 531655000 L)

Ee)aCi.

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 18 Question Id : 6326863347 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Six persons A,B,C,D,Eand F are sitting around a circular table facing

the centre. Who is sitting opposite to B?

2.8 JTE 2D HeY® eaorddd SgSvew A, B,C, D, E 0805 Few
) SO|EPA)ANDOM D o) . B 50 QDM Hrtd a0y 558
oo 0?

() A and F are immediate left and right to E respectively.
E 30 &858 Q0 0O 8 30&I)S Srh )
0§50 3BT A 2B F ew.

()  Cand B are immediate right and left to D respectively.
D 50 ¢85 508 oH8AM A58 DD Jadd Hr )]
23585062 HHAT C HEC B ew.

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 19 Question Id : 6326863348 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Will it be Monday tomorrow?

3 oD Bo3?

() Sunday is a holiday.

3 QG0 2,8 OIYDJ0.

()  Itis not a Friday day before yesterday.
FN) °edv0 DB G0 5.

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 20 Question Id : 6326863349 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the number of white balls in the bag?

3 HODES BOD O HOYPS DOEH?

()  There are 14 balls in the bag.
&3 HODES 14 0ehen Ee38Y.

() Number of black balls in the bag is 10.

HODS'D IO 2oeey Hows 10.

Options :
1. % 1

2. %2



3.%3

4.9 4

Sub-Section Number : 2
Sub-Section Id : 632686370
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6326863350 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8%0 o 1HFOS” 1HBSTAS’ Boch 2o (@ETe S
298 T B0 HoWES) DdFeFen 018, 2.5 24S EDD0DS
@8 00 HTE 2685 A P30t ) S0LNOH. €8 OF ), 27((iedm
H0R0D) AP OB T3S JHrBoNok.

LKJ : ONM :: DEG :

(1) GHI
(2) Gl
(3) HU
(4) GHJ

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 22 Question Id : 6326863351 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8%0 K0 1HF1OS” DSBS’ Boch 2o (@Eve S
95 07 SHB0M DoWES) DarsFen §erd). 2.8 2SS ED0DS
8 £20 DTE 26565 A re30Trd) ) G0LN0H. &8 ©F ) (i
100D PPOD DD 7e3E JrBoHok.

ACDF : CGJN : BEHI :

(1) DINQ
(2) DINQ
(3) DINR
(4) DHNQ

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 23 Question Id : 6326863352 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8%0 K0 1HF1OS” DSBS’ Boch 2o (@Eve S
95 07 SHB0M DoWES) DarsFen §erd). 2.8 2SS ED0DS
8 £20 DTE 26565 A re30Trd) ) G0LN0H. &8 ©F ) (i
100D PPOD DD 7e3E JrBoHok.

-USE = SAT T K5L
(1) AYK
(2) BZL
(3) CAM
(4) DBN
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 24 Question Id : 6326863353 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8%0 0 1HF10S” DSBS’ Boh 2o (@ETe S
5070 B0 SOWES) SedrsFen 005y, 2.8 2SS 0D
©% £20 HTE 26858 e300t ) G0ENOH. &8 ©F ) 23iehm
00D R JDS T3S JHrBooh.



RAVE : SBWF = KITE :

(1)  UUG
(2) UUF
(3) LKUF
(4) UVF

Options :
1. %1

2.2
3.%3
4. % 4

Question Number : 25 Question Id : 6326863354 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8%0 %0 1HF1OS” DSBS’ Boch 2o (@ive S
95 07 B0 HoWES) DarsFen §erd). .8 2SS ED0DS
@ €20 NTE 26565 T30t ) G0ENOD. &8 ©F 7)) 22v(iem
HO0D rPOD DB o3& JrBotHok.



AEF) : KOPT :: GKLP :

(1) QUVZ
(2) QVWA
(3) RWXZ
(4) RXYB

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 26 Question Id : 6326863355 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8%0 o 1HFOS” 1HBSTAS’ Boch 2o (@ETe S
298 T B0 HoWES) DdFeFen 018, 2.5 24S EDD0DS
8 0 HTE 2685 A 30t ) G0LNOH. &8 O F el 227((iem
H0R0D) AP OB T3S JHrBoNok.

ABC:14:BCD:
() 1IF
(2) 21
(3 25

4) 29



Options :
1. %1

2. % 2
3.%3
4. ¥4

Question Number : 27 Question Id : 6326863356 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% o 1HF1OS” HBSTAS’ Boch 2o (@ETe S
2% 07 JDB0 HoWES) DFeFen 0. 2.8 24S EDD0DS
8 00 HTE 2685 30t ) S0LNOH. €8 OF ) (i
100D TP B a3 HrBoHoA.

BRONZE : 40 :: GOLD :

(1) 18
(2) 50
(3) 45
(4) 61

Options :

1.¥ 1

2. %2

3.%3

4. % 4

Question Number : 28 Question Id : 6326863357 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8%0 K0 1HF1OS” DSBS’ Boch 2o (@Eve S
95 07 SHB0M DoWES) DarsFen §erd). 2.8 2SS ED0DS
8 £20 DTE 26565 A re30Trd) ) G0LN0H. &8 ©F ) (i
100D PPOD DD 7e3E JrBoHok.

MK : =JH ;9
(1) 18
(2) 16
(3) 14
4 12
Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 29 Question Id : 6326863358 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S$E50 e |DF1OS (DSBS Boch Beve) (@ET e B
25070 B0 JoWE) SrEsFen 0. 28 BHS EDD0DS
© 8 €20 DTE 2655 S e300t ) GOLNOH. &8 ©F 7)) (i
(00D AP DB T3S JrBook.



Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 30 Question Id : 6326863359 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 SE50 e |DFOS (DSBS’ Boch Bhe (T e B
295 T B0 HoWES) DTeTFen §0r8). .8 2SS EDD0DS
@8 £20 DTE 22655 & eS0T ) H0LN0H. &8 OF ) i
$00D) AFPOD DB T3S JHrBook.

CE]l : = DOG: 420
(1) 380
(2) 360
(3) 320

(4) 300



Options :

1. %1

2. %2

3.%3

4.9 4

Sub-Section Number : 3
Sub-Section Id : 632686371
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6326863360 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Note : In questions numbered 31 to 35 pick the odd thing out.

B0E : 31 D0 35 JBK A0 (HFLOS” HBTFOIA HBoTHAW.

42, 49, 60, 73, 88, 109, 132

(1) 60
(2) 88
(3 73
(4) 130

Options :

1. %1

2.2

3.%3

4. % 4

Question Number : 32 Question Id : 6326863361 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Note : In questions numbered 31 to 35 pick the odd thing out.

$0Q% 1 31 DO 35 JBK (O (HFLOS” HBTFOIA HBOTHSW.



Moon, Mars, Mercury , Venus, Jupiter, Neptune, Uranus

(1) Uranus
(2) Jupiter
(3) Mercury
(4) Moon

Options :

1. %1

2. %2

3.%3
4.9 4

Question Number : 33 Question Id : 6326863362 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.

(o8 1 31 O0G 35 SB5 fe L;J%g@eff HBTFDE HBoTHAW.

Knife, Sword, Hammer, Needle, Thread, Axe, Blade, Nalil

(1) Thread

(2) Hammer

(3) Nail
(4) Sword
Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 34 Question Id : 6326863363 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.
05 1 31 DO 35 JEH e 1HF YOS HBFOIS HBoTHAW.

60, 90, 150, 210, 330, 390, 510, 630

(1) 60
(2) 90
(3) 150
(4) 630

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 35 Question Id : 6326863364 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.
He0DE 1 31 DO 35 HSH e HF LS HBFOIA HBoTHAW.

January, March, May, June, July, August, October, December

(1) March
(2) May
(3) July
(4) June

Options :
1. %1



2. %2

3.%3

4. ¥ 4

Sub-Section Number : 4
Sub-Section Id : 632686372
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 6326863365 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

1B 36 cDOG 45 S50 O (DE)eN 2,8 DD BN AODITY
DT oW. 8 AONITY)  HHAV0D HBANH SIrTrOS
2D FOOHOA.

T2, 12,617, 10:22,

(1) 27
(2) 14
(3) 32
(4) 37

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 37 Question Id : 6326863366 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

JaDAE 36 cDOEG 45 SO0 (o (DE)eN 2,8 DD BN QO
DT 0. 8 JAANATF) HeDOD JBOHH SRS
2D FOOHOA.

2,612 20, 42,56, 72

(1) 28
(2) 30
(3) 36
(4) 40

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 38 Question Id : 6326863367 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

DB 36 DO 45 DO He) (DE)eN 2,8 PDNAND QONITR)
DT oM. 8 AOHAIT) HAJ0D I8AHH DdrTarod
2P DD FPOOH0A.



1,9, 36, 100, 441, 784

(1) 225
(2) 289
(3) 324
(4) 361

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 39 Question Id : 6326863368 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

DB 36 DO 45 SO0 e (DF)eN 28 PD AN AODITRY
FE3DTY oW, 8 AOHAIT) HAJ0D IBAHH DArTared
PP FPEOH0A.

0,3, 8, 15, 24, .48

(1) a7
(2) 30
(3) 35
(4) 41

Options :

1. % 1

2. %2

3.3



4. % 4

Question Number : 40 Question Id : 6326863369 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

JaDAE 36 cDOEG 45 SO0 (o (DE)eN 2,8 DD BN QO
DT 0. 8 JAANATF) HeDOD JBOHH SRS
2D FOOHOA.

\4,4/18,/48,4/100,/180,/294,

(1) /388
(2) /448
(3) /528
(4) V676

Options :

1. %1

2.2

3.%#3

4. % 4

Question Number : 41 Question Id : 6326863370 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

DB 36 DO 45 HO5 A (DEeN 268 DDA QODITAR),
DT oM. 8 AONATY)  HHD0D IBOHH DIATFTr S
PP JFPEoH0A.



8. 9.5 94,-2.23.-13,

(1)36
(2)-36
(3)39
(4)-43

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 42 Question Id : 6326863371 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

108 36 DO 45 HO50 o (DF)e0 2,8 DD NS QO
EIDT) 0. 8 JANAT) HeN0D) JBODH  dIrTRrerS
2P DD J80H0H.

18 27 125 216 343
2'510"——"26" 37 " 50
36
(1) =
47
(2) =
63
(3) 7
64
A
Options :
1. % 1
2. % D

3.% 3



4.9 4

Question Number : 43 Question Id : 6326863372 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

JaDAE 36 cDOEG 45 SO0 (o (DE)eN 2,8 DD BN QO
DT 0. 8 JAANATF) HeDOD JBOHH SRS
2D FOOHOA.

12, 36, 80, 150, 252, 392,

(1) 426
(2) 478
(3) 524
(4) 576

Options :

1. %1

2. %2

3.%3

4.¥ 4

Question Number : 44 Question Id : 6326863373 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

1S 36 cDOG 45 SO0 o (DF)eN 2,8 DD BN QO
eI 0L, 8 AANAT) HDD0D DBOHH  SIrTrRrerS
2D FPOOH0A.



13, 221,317,919, 437, 23,23, 29

(1) 690
(2) 369
(3) 667
(4) 643

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 45 Question Id : 6326863374 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

a8 36 cDOG 45 SO0 o (DF)eN 2,8 DD BN AODIT)
DE3NTY 0. 8 AONNITY)  HHA0D IBAHH SIrTRrOS
2D FOOH0A.

8, 18, 38, 78, 158, 638

(1) 248
(2) 268
(3) 318
(4) 328

Options :

1. %1

2. %2

3.¥3

4. % 4



Sub-Section Number : 5
Sub-Section Id : 632686373
Question Shuffling Allowed : Yes

Question Id : 6326863375 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (46 to 48)

(b) Data Analysis (Marks : 10)
STod DINED (Sedp.en : 10)

A company produces five types of cars A,B,C,D and E. The below table

shows number of cars of these types produced during the years 2016-

2020 by this company. Based on this, answer questions 46-48.

2,8 80R D 85°BS A, B, C,D, E 578 568318 TR0, & 500
2016-2020 H0SBITTOS & O 5edIBE  HoOHOD
DT, &8 (50O HEIE N0, A &30 46 HOG 48

o M (ST PSE RSV I v ioval DI

Year A B C D E
2016 80 85 95 120 60
2017 90 80 100 150 80
2018 95 100 120 250 90
2019 120 120 160 280 95
2020 180 140 15 290 65

Sub questions

Question Number : 46 Question Id : 6326863376 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST OF DN (5700 1 10)



The percentage of increase in the production of cars of type A in the

year 2020 in comparison with the year 20167

2016 HOSBIBOS FOW, 2020 H0HS B0 e5eh 1B TADDES
A 580 505 DSHSS TS0

(1) 100
(2) 80
(3) 120
(4) 125

Options :

1.% 1

2. %2

3.% 3

4. 4

Question Number : 47 Question Id : 6326863377 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST OF DINED (5700 : 10)

The total number of cars of type D produced during the years

2016-2020 is

2016-2020 HOS5ITS” B5¢538 90w B0 D B350 528 Hows

(1) 1080
(2) 1090
(3) 990

4) 1190



Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 48 Question Id : 6326863378 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST OF DN (5700 1 10)

The ratio of the numbers of cars of types C and D produced during the

years 2016-2020 is :

2016-2020 HOSBITOS &ed 1S @ond C %o 528 Jomedy
S0B8A5 D B350 520 HOoWEEL DA )E:

(1) 64:108
(2) 65:109
(3) 64:109
(4) 60:109
Options :
1. %1
2.2
3.%3
4. % 4
Sub-Section Number : 6
Sub-Section Id : 632686374
Question Shuffling Allowed : Yes

Question Id : 6326863379 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (49 to 51)



(b) Data Analysis (Marks : 10)
S04 D3N (X700 : 10)

The following bar diagram gives information of biscuits exported by a
company (in lakhs of tins) from 2005-2011. Based on this, answer the

questions from 49-51.

180¢) 8802 QB0 2,8 50N 2005-20115063¢5 385550065 DiDedded
DS DD (@50 €38 ) DITD BENIHEHOA.

DSBS STos0 esrdormr 49 Hod 51 IEH Ko (HF) 0%
QAT T30,

14

5 11.8
10.5
10 9.3
' 87
8 7.8
6.7

6 5.3

Fal

2

0

2005 2006 2007 2008 2009 2010 2011

Sub questions

Question Number : 49 Question Id : 6326863380 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
S 0d DN (e : 10)



The year that registered highest percentage of growth in exports over

its preceding year is

D D0N B0 T (EH0 D0IBIB0 B DhHadehereS eoehsHHE
2DHMH A B0 ST TOOE?

(1) 2011
(2) 2009
(3) 2008
(4) 2007

Options :

1.9 1

2. %2

3.%3

4. % 4

Question Number : 50 Question Id : 6326863381 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
STPod DBNED (Saeg.en : 10)



Which year witnessed lowest increase in exports over its previous year?

D DOSBIBSINES” DDHHEOS” TR SNOCES 5035 IS5 Ed)

9655065 550700 MDA HT7cH oN0E?

(1) 2006
(2) 2007
(3) 2009
(4) 2008

Options :

1. %1

2.92

3.%3

4. % 4

Question Number : 51 Question Id : 6326863382 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST04 DBNED (Saetg.en : 10)



The percentage increase in the exports in 2009 over its preceding year,

corrected to two decimal places, is

2009 05651806 MDHDNS DA F°H0 €90eHE1 SNOCIES
H03$IG0S FOR (BOh 5308 T8 DSIE)

(1) 10.83
(2) 12.90
(3) 1538
(4) 19.23
Options :
1.% 1
2.9 2
3.%3
4. % 4
Sub-Section Number : 7
Sub-Section Id : 632686375
Question Shuffling Allowed : Yes

Question Id : 6326863383 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
Question Numbers : (52 to 55)

(b) Data Analysis (Marks : 10)
ST04 DBNED (Saetg.en : 10)



In a survey of the games Cricket, Football and Badminton played by

3000 students in their intermediate, the following data emerged.

20686056 S 3000 HO0O DrsHen 8BS S estre
18365, HE oS, HBAD 2rsGOOS © S 2EDS HB5S 8o
DAOITEN B,

()  15% of the students played all the three games;

15% oD0E Dedden Scdh eseder e3R8,
(i) 750 students played only 2 games

750 S0 DTrshen Ok eéren Hredan e .
(i) 730 students played only Cricket.

730 sD0A 1836 S e esBO.

Based on this data answer the questions from 52 to 55.

A GO 52 DO 55 880 (1) 3% €50 e},

Sub questions

Question Number : 52 Question Id : 6326863384 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
S04 DIND (Sr0.en : 10)



The total number of students who played Football alone and Badminton

alone is

DE 2SO SPHad SDEAW 2PEB0ED ST e eBS VDO

DT HoW

(1) 1070
(2) 1170
(3) 123
(4) 1320

Options :

1.¥ 1

2. %2

3.%3

4. % 4

Question Number : 53 Question Id : 6326863385 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
SEod DN (Srdg.en : 10)



If the number of students who played cricket alone and badminton

alone are equal, then the number of students who played football alone

13

1856 Srevsh @GS DTN Jow§ OTH PGB0 SIS
SRS DTS oW B JSTIRNSB &) 27O Ar|edad e

DT SoP§

(1) 360
(2) 340
(3) 310
4) 270

Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 54 Question Id : 6326863386 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST0d DN (S.en : 10)



How many students played only one game?

DO SO Derschen 2.8 2.8 e38)) es3BHb?

(1) 2250
(2) 1950
(3) 1800
(4) 1700

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 55 Question Id : 6326863387 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
STod DN (Se0.en : 10)

How many students played at least two games?

00 Boch e3eren e8GS DD B0dN0E?

(1) 300

(2) 1100

(3) 1175

(4) 1200
Options :

1. % 1



2. %2

3.%3

4. ¥ 4

Sub-Section Number : 8
Sub-Section Id : 632686376
Question Shuffling Allowed : Yes

Question Id : 6326863388 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (56 to 60)

Coding and Decoding Problems (Marks: 10)
§°G0ohR, ASGOR HHgen (337020 : 10)

For the letters of the English alphabets A, B, ... Z numbered as 1, 2, ... 26

a code is designed by coding the letter with number n by letter ¢(n)

which is defined as under:

_ _I n+17, for1<n<9
c(n) = n—-1. for 10=n=18
n—18, for19zns=

For decoding the reverse process is used.

Based on this data answer the questions 56 to 60.

€01 SGSITFOOS'D @E TeN A, B, ... Z 0 SOOI 1, 2, ..., 26 €T
(90 n &5 @5 T (80 QB SDODDED C(n) & §E T 2856 D
eVifvilelnleiniler)

oo o 7 s

W n—ll .ffm%?'aﬂnfz&j
AEHBOR 350 DS HDB SHBFRA0DB. & G000 Srdom
56 a0 60 SBB0 11e) (20 @50 DaIPTTe® ol

Sub questions

Question Number : 56 Question Id : 6326863389 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§G0hR, A5G0l HHsen (S3¢0g.e0 : 10)

What is the code for COVID?

COVID %0 §6 D530 ae3?

(1) TNDZU
(2) TENYU
(3) TFGXU
(4) TDHWU

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 57 Question Id : 6326863390 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
5°G00, ABOR HDseD (5377502, @ 10)



Which word is coded as UVKBR?

UVKBR T o D50 §& Dardd?

(1) PARTY
(2) DIRTY
(3) DELTA
(4) DRAFT

Options :

1. # 1

2. %2

3.¥3

4. % 4

Question Number : 58 Question Id : 6326863391 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°A00, ABOR Hddsen (S3e¢020% : 10)

What is the code for PROFIT?

PROFIT %0 §& D0 20e3?

(1) OPMVYB
(2) ORNUXB
(3) OSPW/ZB
(4) OQNWZB

Options :

1. % 1

2. %2

3.%3



4.9 4

Question Number : 59 Question Id : 6326863392 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G00, A5B0R HDsen (3530300 : 10)

Which word is coded as BQRUV?

BQRUV 1 &) D7) 56 Tarth?

(1) BLADE
(2) TRADE
(3) TRACE
(4) BLAME

Options :

1. # 1

2.%2

3.%3

4, % 4

Question Number : 60 Question Id : 6326863393 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G00, A5BOR Hdsen (353060 : 10)



What is the code for the word ELEGANCE?

ELEGANCE %0 56 D250 &7

(1) VKVXRMTV
(2)  VLVYSNTV

(3) VMVZQRTV
(4)  VNVWXLTV

Options :

1.¥1

2. %2

3.%3

4. % 4

Sub-Section Number : 9
Sub-Section Id : 632686377
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 6326863394 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0oh, ASGOR HHgen (S3°¢02e% : 10)

If RECORD is coded as UHFRUG, the code for ENTRANCE is

RECORD &% UHFRUG 1™ §°%% © ), ENTRANCE %0 56

(1) HPUVDPCH
(2) HRUVCRDH
(3) HQVWDQEH
(4) HQWUDQFH

Options :
1. %1



2. %2
3.%3
4.9 4

Question Number : 62 Question Id : 6326863395 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)

§°G0ohR, ASGOR HHgen (337020 : 10)
In a certain code the words PRIME and TOWER are respectively coded
as FNJSQ and SFXPU, then in the same code the word BEGIN is coded

ds

2,8 DON §& S PRIME N80 TOWFR @3 Il S
FNJSQ 08050 SFXPU T 56 B, @8 §& & BEGIN % 56

(1) CQHJO
(2) OJHFC
(3) OJHCQ
(4) CFHJM

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 63 Question Id : 6326863396 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
G0, A8G0R HHsen (35706 : 10)



If TSICET is coded as VQKAGR, then BACKWARD is coded as

TSICET & VQKAGR 1 56 TR, BACKWARD %0 §°6

(1) DYEIXYTB
(2) DYEIYXTB
(3) DYEIYYTB
(4) DYEIYYSB

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 64 Question Id : 6326863397 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
5°G00, ABOR HDseD (Se¢020% : 10)



In a code language if GALAXY is coded as DXIXUV, then the code word
for STAR is

2,4 85 2A &S GALAXY o DXIXUV T 86 5 ), @935 2 65 STAR 0
56 D0

(1) PQXN
(2) PQXO
(3) PQXM
(4) PQOX

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 65 Question Id : 6326863398 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G00, A5B0R HDsen (3305020 : 10)



If SHARE is coded as 43256 and ARRIVE is coded as 255176, then the
code for SHIVER is

SHARE & 43256 ™ 08050 ARRIVE & 255176 M §6 D,
SHIVER %0 §°6&

(1) 431765
(2) 427165
(3) 421365
(4) 47365
Options :
1.¥1
2. %2
3.%3
4. % 4
Sub-Section Number : 10
Sub-Section Id : 632686378
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 6326863399 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE, DNANO, @85> Hadgen (s5°2502.e : 10)



If June 23, 2015 is Thursday, then the day on November 10, 2020 is

23 270, 2015 H B0 o, 10 SS020 2020 @dhs S

(1) Tuesday \Telpt>ruilele)
(2) Wednesday 20600
(3) Thursday DTG0
(4) Friday DIESB0

Options :

1. % 1

2.% 2

3.43

4. % 4

Question Number : 67 Question Id : 6326863400 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
S5, DeDOHO, e08%e JsHdsen (S37302e0 : 10)



The acute angle between the two hands of a clock when it shows

4:15 pm ( in degrees)

FODOIHO 4:15 @003 2.8 HACITEOS QD BOD S50
0655 @) 80 (Bified)

(1) 45
(2) 36
1

(3) 3?5
4) 67>

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 68 Question Id : 6326863401 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE, DeNOHO, @N8%e Jadgen (55730200 : 10)



A clock strikes 2, 4, 6, ... ,24 times when the time is 1, 2, 3, ... ,12 (am or
pm). Then the number of times it strikes between 10:30 am on a day

and 1:40 pm next day is

2,8 HBOFB0S 1, 2, 3, ... 12 Ho&®H (am S pm) SO
2,46, .., 24 7 Kotren SCHHODY &8 2,8 B2 &S00 10:30 5O
0805 T8y Fer N0 1:40 B 0¢dseS Srhiad fodred

QOB

)
(2) 330
(3) 548
(4) 360

Options :

1. %1

2. % 2

3.%3

4. ¥ 4

Question Number : 69 Question Id : 6326863402 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
S5, DeDOHO, e08%e JsHdsen (S37302e0 : 10)



A woman introduces a man as the son of the brother of her mother.

How is the man related to the woman?

208 [ 2.8 DDA 05 5O TW0EY FSHE SO HBHANO
TR, € NGRS & (A S HoDOCB0 DEI?

(1) Son S50
(2) Uncle By Sy
(3) Cousin 2200

(4) Nephew Sendd

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 70 Question Id : 6326863403 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE), DeNONO, @085 D FEN (3728502 : 10)



If the first day of a non leap year was Sunday, then which was the last

day of that year?

2,4 O HOHEBIBHD Q) H0SBIBANS Tnched B edTS0
L90NS BOT) €8 D035 IBSMES DB 2> D SOTD ?

(1) Tues day vlelat=Fuilele)
(2)  Sunday esdd o
(3)  Saturday 3000
(4)  Friday DS G0
Options :
1%
2.¥2
3. %3
4. % 4

Question Number : 71 Question Id : 6326863404 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE), DNOANO, @85 Hsdgen (s5502.e2 : 10)



Reaching the place of meeting on Monday 15 minutes befare 8:30 AM,

Ram found himself half an hour earlier than Shyam who was 40 minutes

late. What was the scheduled time of the meeting?

O NS0 O 2.8 Hread erds &oho 830 %o 15
QAFEN SNOCHTT TERBOTYCD. 350 40 Qadalen) SISO
AT, T 350 50 @biiot) o™ HSTPIER
SEVDHTY D, DATIF0 APON0DDE DeNADO N0EH?

(1) ©¢s. 825am
(2) ©s. 8:15am
(3) <& 810am
(4) <5 805am

Options :
1. %1
2. % 2
3.%3
4.¥ 4

Question Number : 72 Question Id : 6326863405 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
S5, DeDOHO, e08%e JsHdsen (S37302e0 : 10)



A, B, C, D and E sit around a round table facing the centre. A sits

between E and B, D sits immediate right of C. If B sits between A and

D, then who is immediate right of E?

A, B, C, D, E 20 59Ts*S 20 tEY” So|TPE)S0 o §oeth Jom) .
E, B N5 A; CH0(DELD 50 3 D 5t )ym™) &. A SHBosw D
06555’ B 5750 )0, E B0 D51 5063 0T Tn?

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 73 Question Id : 6326863406 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE), DDONO, @85 DA FEN (S57°%02.€0 : 10)



If the symbols A,0,®,0 stand for the arithmetical operations of

addition, subtraction, multiplication and division respectively, then

14(402)
(5@ 2)0(6A3)

A,00,0 ©F HEHED SO @008 Heded D Baden doieo,
53855850, (15750 N8O 2FHFS0 O AW, D

(5@ 2)a(6A3)
(1) 0
(2) 1
3) 2
(4) 3
Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 74 Question Id : 6326863407 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE6, DeDONO, @sN8E JaDgen (37°¢502.€0 : 10)



If + represents division, — represents addition,

X represents subtraction and -+ represents multiplication, then

7+-3—-5x8+2-=

+ ©O PITFE0D, — OTE D0EON0 &, x O S5SN80
5 SDOAN + T HISHO H D,

7=3—-H¥BF2=

(1) 20
(2) 12
(3) 22
4 9

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 75 Question Id : 6326863408 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE6, DeDONO, @sN8E JaDgen (37°¢502.€0 : 10)



If « stands for +, f stands for =, y stands for < and & stands for >,

then a a b f§ (2c) and b y ¢ implies

a2 OO + D, POV = D,y OV < &, HDOAW 6§ OTE > D
JTPDN, a abp(20) DO byc© OB ST,

(MNapc
(2)aacf b
(3)ad b
(d)adc
Options :
1. # 1
2. %2
3.%3
4.4
Mathematical Ability
Section Id : 63268650
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 75

Enable Mark as Answered Mark for Review and Clear

Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 632686379
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 6326863409 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



1) Arithmetical Ability (Marks : 35)
08ieded Ao sed (3320200 : 35)

(12)%.,(20)3.(45)°

=2a 368 5Y =
A T 2%.3P.5Y, then 2a + 38 + 5y

4 3 3
U2 (2O)(45) _ pa 38 57 e90WS, 2a + 3B + 5y =

(6)3(15)*(10)>
(1) 29
(2) 35
(3) 49
(4) 55

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 77 Question Id : 6326863410 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
08ieded aranQsed (3320200 : 35)



4 37+l 4 g 31

1 1-n
L0

m =
2 2
3) 3
@ =

Options :

1.9 1

2. %2

3.%3

4. % 4

Question Number : 78 Question Id : 6326863411 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
08(ieded aranQed (352800 : 35)



A mixture of 40 litres has milk and water in the ratio 5 : 3. If we add 2 litres

of milk to that mixture, then the ratio of water to milk in the new mixture is

40 OES WEFNS’ 5 : 3 DAIVS’ Fren HOW DB SO 0. €3
IS8 BockH OEY Fered DB, 0 5 MF oS DBy
B0 arody e DN

(2) g =5
(3) 25 =1'F
(4) ¥ =25

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 79 Question Id : 6326863412 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
08ieded aranQsed (3370200 : 35)



20 litres of a mixture contains milk and water in the ratio 3 : 1. How much
litres of milk must be added to this mixture so as to have milk and water in

theratio4:17?

20 DS WFH0S” e HOAN DO 3 : 1 DNINS’ oy ow. es
F D0’ e SHBOM DY DAIB 4: 1 SOHEZ I DEXS Fren
23 A FedS 5D BD?

(M 5
(2) 6
3) 4
4 3

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 80 Question Id : 6326863413 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
e9081eS6d FraQged (3020 : 35)



If Y12 4+ V140 =X + .\;’P}_‘ and x <y, then 3y —2x =

V12 + V140 = x + [y HOOM x < y ©@aw, 3y — 2x =

e d

& ™
(3) 21
(4) 31

Options :
1. %1
2.92
3.%3
4. % 4

Question Number : 81 Question Id : 6326863414 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
081365 a0 5ed (370, : 35)



If x = 3 +/8, then x* —|—i4 =
X

x=3++8 OONS xt ==

3

(1) 34+ 4/2
2) 34

(3) 1024+48
(4) 1154

Options :
1. %1
2. %2
3.%3
4. 4

Question Number : 82 Question Id : 6326863415 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
08ieded aranQsed (352020 : 35)



The largest 4 digit number when divided by 3 or 4 or 5 leaves remainder 2

IS

380" 4 B 5 O 2PN0DGN A0 2 ST oD e0se) ({0

QOD§
(1) 9962
(2) 9972
(3) 9982
(4) 9992
Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 83 Question Id : 6326863416 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1e365 a0 ged (302,02 : 35)



Which one of the following is divisible by 127

1808 73S D 12 T 23N0H 3¢ 0E?

(1) 820426
(2) 835246
(3) 742564
(4) 926028

Options :
1. %1
2. %2
3.%3
4. 4

Question Number : 84 Question Id : 6326863417 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
08ieded aranQsed (3320200 : 35)



If the GCD of two numbers is 53 and if their sum is 636 and if both are more

than 53, then the larger of the two numbers is

SO oW (.alr.er. 53 OG5 S5°¢3 J0 636. BO HoODSEN 53
%) DB0LST B0 FE3S (16 Sows

(1) 37
(2) 477
(3) 583
(4) 265

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 85 Question Id : 6326863418 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
e9081eS6d FraQged (3020 : 35)



If square tiles of same size (each of side n cm) are to be used to pave the
floor of dimensions 4.96m x 1.86m completely, then the largest value (in

cm) of nis

4.96 2. X 1.86 0. Fereden o) Tercdh 2,8 HBSEas0 e tdehr &|arsed
(25% 2DBO FBsy n 0.2, ) doded PFooh Tard) Go®, n
DBE) BN Dendd (0o

(1) 31
(2) 62
(3) 64
(4) 93

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 86 Question Id : 6326863419 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
08ieded aranQsed (3320200 : 35)



211
(1) ol
21
2 o
@ Z
211
3 S—
G) -
210
4 s
(4) =
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 87 Question Id : 6326863420 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
081365 FranQsed (370200 : 35)

2 5 B ool W ) g
1§+ 4E+ 7';-1— lGE == with GCD (m,n) = 1thenm —n

2 5 8 11
14— Il = E A8 (mn)of.o.er.=1 0B,
3 6 9 12 n
m-—n =
(1) 875
(2) 947
(3) 885
(4) 957
Options :

1.¥1



2. %2
3.%3
4. % 4

Question Number : 88 Question Id : 6326863421 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1eded aranQged (35°0.00 : 35)

32 1 ;
The least among the numbers cigigug 15

o | L

22,2 o 83 dops

o T N s s B ]

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 89 Question Id : 6326863422 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
081365 FranQsed (3700 : 35)



The sum of the largest and the smallest numbers among

3 4 25 .
_l_l_.l_ lS
4°'5°3°6
3 4 2§ A L¥A W o~ wt e
=222 63 dopsod 18 HBAM $R Homs Iweo
3
m 3
2
@ 2
4
3 o
5
@ =
Options :
1.% 1
2.¥2
3.%3
4. % 4

Question Number : 90 Question Id : 6326863423 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1eded FranQged (30000 : 35)



The salary of a person was increased by 20% and then reduced by 10%.

What is the net change in his salary?

2,8 558 250D 20% DOD 10% 5O, @965 2H0S' D DES A7)
DOEd ?

(1) Decreased by 12%.
12% 5D o b.

(2) Increased by 10%.
10% &M e od.

(3) Decreased by 8%.
8% ¢5(DeH oA,

(4)  Increased by 8%.
8% D MDHenod.

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 91 Question Id : 6326863424 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
9081365 TN 5ed (37020 : 35)



When 30 is subtracted from 120% of a number, the result is itself. What

was that number?

2,8 Hows B0EY 120% HOB 30 D SVIVSINICH T Do SN,

e oW DE?

(1) 120
(2) 180
(3) 150
(4) 300

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 92 Question Id : 6326863425 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1eded aranQged (302020 : 35)



A bicycle is sold for Rs.7938 and the merchant gets a profit of 8%, then the

cost price of the bicycle, in rupees is

2.8 arsard 2.8 8O D 7938 G @50 @350 @8 8% erdio
SN, 8 8D D 5B G (Br.o)

(1) 7350
(2) 7400
(3) 7450
(4) 7500

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 93 Question Id : 6326863426 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
081365 FranQsed (370200 : 35)



The marked price of an article is Rs.480. The shop keeper allows a discount
of 10% and gains 8%. If no discount is allowed, what is the gain

percentage?

2,8 25e0ed) 105¢3ed ¢S Gr480. 2.8 DS N 10% A0S, 8%
e7250 SPochErcd. 00D BEFFSB €725 Foeh00eh?

(1) 20%
(2) 16%
(3) 15%
(4) 24%

Options :

1.1

2. %2

3.%3

4. % 4

Question Number : 94 Question Id : 6326863427 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
081ed6d mraQged (3020 : 35)



A, B, C are partners in a business. If A invests in a business half as much as
B and B invests twice as much as C, then the share of C in a profit of

Rs.17640 at the year end in rupees, is

28 Eg@?é@aﬁg A, B, C, @0 27 rta0en . es &5‘*55'}“{30@6 A Q308
RS, B ER2EES S0 080 C gy V2GS B Bockh B
2ERDAED I8, H0oSBITToTES E17460 exioS C BoE) e
(EroS)

(1) 4410
(2) 6615
(3) 2205
(4) 8820

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 95 Question Id : 6326863428 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@0 8(1eded aranQged (330200 : 35)



A started a business by investing Rs.12.5 lakhs. After 3 months B joined the
business with some capital. If at the end of 9 months from the beginning
they shared the profits in the ratio 25 : 24, then the capital of B in the

business, in lakhs of rupees, is

S 125 ©F 0 DEPDAES’ A 2.8 5Tl [DE0L0Trd. 3 FOo
S0 565 §°065 S0 GBS0 B &8 a5arB0ocS BB, PS030 HoD 9
SO SHaTS D eTre 25 : 24 DANBS HotHHHoD e
FLETS0S BBDE) oS0 (6. o8 o)

(1) 10
(2) 15
(3) 21
(4) 18

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 96 Question Id : 6326863429 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
08ieded Ao sed (3320200 : 35)



Two taps A, B can fill a cistern in 8, 12 hours respectively. Both are opened
at the same instant and after x hours tap B is stopped and tap A continued.

If the total time taken to fill the cistern is 5 hours, then x =

DO SeTew A, Ben 2,8 S SHIm 8 dotewn, 12 HobrereS
QODNEIY. DO S 2.8 8 BOD x (0L dBdaTred HE° Bad
BIDD VO A D BOTEOTERD. S DOBETDE TGO HHANO 5

K0E)eD @OV, x =

(1) 3
1
@ 33
(3) 4
1
4) 43
Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 97 Question Id : 6326863430 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1eded aranQged (3320200 : 35)



A tap A can fill a tank in 4 hours and tap B can fill it in 6 hours. Both are
opened simultaneously. It took 48 minutes more to fill the tank due to a
small hole at the bottom of the tank. Then the time, in hours, in which the

hole can empty a full tank is

2,8 LI 2,8 ST A, 4 (10O’ DB ST B, 6 FOLIOS DO Hfe3s).
S0 e 2.8 rd SO, @ Seechid 2rmrd 2.8 Soldo
SE00T &8 SE3D0GErDE 40 JETED DS BH0d. €
B01850 Dok S 7@ TOCHH HT HHOHO (Hokre>eS')

(1) 8 hours 30 min 8 (0EY® 30aare))
(2) 8 hours 48 min 8 (H0EY® 48N
(3) 9 hours 12 min 9 O 12Qa)are
(4) 9 hours 36 min 9 foered 36D

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 98 Question Id : 6326863431 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1eded aranQged (378000 : 35)



If a car is travelling with a speed of 48 kmph covers %‘h of the distance in 3

hours 15 minutes, then the total distance (in km) is

028 48 8.5, S0 2,5 520 3 150638 15 AaredeS 2% Srdos’ %&3
35068 [DATTEL0 TR, & NGB0 Ardo (B.a0.08)

(1) 156
(2) 195
(3) 208
(4) 216

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 99 Question Id : 6326863432 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1eded aranQged (302020 : 35)



A man takes 12 hours to walk from A to B and to ride from B to A. If he
walks both ways he needs 3 hours more, then the time, in hours, that is

required by him to ride both ways is

2% 558 A DO B 55538 SHOASY B oG A% A58 TAHErE
12 B0E3e0 3D B0, 965¢% BOCY SDTPENTT 389837 V8 3
HOEIEN DBV 3DZ0T) e9¢bch BOCH D e ar 58 TOHEFDE
295303830805 HNANO (HoerereS’)

1
(2) 95
(3) 9
81
@ =
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 100 Question Id : 6326863433 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
08ieded aranQsed (352000 : 35)



A and B can complete a work together in 16 days while B and C together
can complete it in 24 days. If A, B, C work together they can finish the work
in 12 days. The number of days required for A alone can complete that

work is

A, B e 5D 2,8 DA 16 FerereS” 8 Tohiier&h. s B, C ex DD
29T DA 24 B2re>)eS” HrATONHOED. A, B, C &0 D HAT W), & HAD
12 82063 HraToHde%m. e HAJ A 58 I8 TAVLE I

e oM

(1) 40
(2) 48
(3) 24
(4) 30

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 101 Question Id : 6326863434 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1e365 a0 ged (30°¢02.00 : 35)



If 3 men or 4 women can reap a field in 43 days, how long will 7 men and 5

women take to reap it?

SNMHS HBDED B denHS® (ReN 28 Dot 43 Tred
HORODILONSB 7 HA HADEN HEAW 5 N0 (RN DAY
F2redeS €3 H0rD DoBOTHH?

(1) 12
(2) 14
(3) 10
(4) 15

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 102 Question Id : 6326863435 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1eded FranQged (30000 : 35)



Four circles each of radius a cm are touching each other in pairs as shown
in the figure. The area of the shaded region (in sq.cm) between the circular,

as shown in this figure is

a PSPQsa T Hed @ren SHTT e HEI0ES DIV SOTP
25T EES D)9T0TD TOLNTYOW. SHT® NS
D0H2ES [0 BTOLW (5. V0.0

Za?
My =
4g2
@ *=
3a’
B =
6a’
4 =
Options :
1. %1
2. %)
3.%3
4.9 4

Question Number : 103 Question Id : 6326863436 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1eded aranQged (3320200 : 35)



The area of a rectangle is 3 times that of a square. The length of the

rectangle is 16 m more than the side of the square while the breadth is % of

the side of the square. Then the perimeter of the rectangle, in meters, is

2,8 &Y e B0 JBPO L0, G| FF7eES 3 T, &8 HY e d|do
e8sY, IBGD 2DBO ™) 16 DED OB God. HB &Y
BRSO DTN, eS| 2DBOES DO ) 59160, BEY IS0
T0eY Fexed, (PSS

208
M 2
104
@ =
52
@ =
26
4 =
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 104 Question Id : 6326863437 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1e365 a0 ged (30°¢02.00 : 35)



If the slant eight and radius of a right circular cone are in the ratio 5 : 4 and

its volume is 432n cubic feet, then the height of the cone, in feet, is

5: 4 DAIBS DTN D), T EODAS ©02) HEYe> 0z

=

A3NE) e 0870 4321 aDe) CADHEN S9N IY)CD), €3 FO )
TB0E) AW, (e9chrihereS)

(1 3
(2) 6
3) 9
(4) 12

Options :

1. # 1

2. %2

3.¥3

4. % 4

Question Number : 105 Question Id : 6326863438 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1e36d a0 ged (300200 : 35)



A metal solid cylinder of height 64 feet and base radius 6 feet is melted and
cast in the form of a solid sphere, then the surface area of the sphere,(in

square feet), is

64 €CHINHS DN HBA 6 CHNHE 25 TATFTR) EDAS 2.8 S5
DA TR 000D 2,8 NS YO ¥ STFONICD &8 YD)
&H8% T30 (9.9 HOS).

(1) 48m
(2) 144 n
(3) 576m
(4) 1152 n

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 106 Question Id : 6326863439 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
081365 FranQsed (370200 : 35)



A Square field of side 34 feet is surrounded by a path of uniform width. If
the cost of fixing tiles on this path at the rate of Rs.30 per sq. feet is

Rs.15750, then the width of the path (in feet) is

34 9D 29230 EES 2,8 HMBIRSS B (650 THEYT 2,3 Ichen)
EDAS 237 OO 3. @CHINHBD B30 © 1750, &8 eredeS TS
DEDTAS S3.15750 0 DED,) ONSEIONS, € 237E) Jsen)
(@cHee)

(1) 35
2) 6
B3] 5
o

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 107 Question Id : 6326863440 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1eded FranQged (30000 : 35)



The sides of a rectangular park are in the ratio 4 : 3 and its area is 8112 sq.
m. Then the cost of fencing around the park at Rs.6 per meter, in rupees,

is

2.8 &Y VeSS Sy TBE) 2h2ren 4: 3 DAINB S, HEA
Q) S350 811229, 2. €3 KB &6 © 15D ) €3 ¢y THEY”
500 SoHETDE 9ddHs ) Sr.eeS

(1) 4092
(2) 1638
(3) 2184
(4) 3276

Options :

1. # 1

2. %2

3.¢¥3

4. % 4

Question Number : 108 Question Id : 6326863441 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
081365 a0 5ed (370,00 : 35)



The radius and length of a cylindrical roller are 25cm and 2% m respectively.

Then the area it covers in 35 rounds, in square meters, Is (take m =22/7 )

2,8 Warses 80 ABnd) arsard0, DEBen SMOMT 25 0.40., SHBAM
2% 2. €96 35 (eDETEN TG I AT O TOhHEG (06
TS0, (5.0.06 ) (rn = 22/7 TF SV SW)

(1) 6875
@) 4121
2
3) 1375
4) 1373
2
Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 109 Question Id : 6326863442 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08(1e365 a0 ged (302,02 : 35)



If 3°8 = r (mod 28) and 0 < r < 27, thenr =

0<r=<27)6%°, 3°8 =1 (mod 28) TV T r =

(1) 3
(2) 9
(3) 17
(4) 25

Options :

1. %1

2. %2

3.%3

4.¥ 4

Question Number : 110 Question Id : 6326863443 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1) Arithmetical Ability (Marks : 35)
9081365 TN 5ed (37020 : 35)

The number of real solutions of the equation 2x* —5|x| +2=10s

2x2 —5lx| +2 = 0 @ DDEBI QD PGS Hos

(1) 1
(2) 2
(3) 3
4 4

Options :



1. %1

2. %2

3.%3

4.9 4

Sub-Section Number : 2
Sub-Section Id : 632686380
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 6326863444 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D309, 25EBAD S sed (S350 : 30)

If A is the set of all positive integers greater than 1 and less than 45 that are

coprime to 45, then the number of elements in A is

2863 50) DB0d OGN 458:3) B0 GOt 4550 rod

(DTTDTOSENT (e HOWES DN A oS, AR rerseer HoWS

(1) 24
(2) 16
(3) 22
4) 23

Options :

1. %1

2. %2

3.%3

4.¥ 4

Question Number : 112 Question Id : 6326863445 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



i) Algebraic and Geometrical Ability (Marks : 30)
22805, 25TNEBAD T ses (S0 : 30)

If a set A has 7 elements, then the number of subsets of A with at least 3

elements is

DA AS” 7 SPOSENS) DD, EDD0 T SrOsTeId O &) A
A30E) Bood N DOPS

(1) 99
(2) 64
(3) 106
(4) 112

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 113 Question Id : 6326863446 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 25 NES0D TS seh (ErEze : 30)



If f(x) =3x*+7x+6, g(x) = 4x — 7 and

h(x) =5 f(x)+ x.g(x) + 4, then h(5) =

f(x)=3x2+7x+6, glx) = 4x — 7 HNDEAD

h(x) =5 f(x) + x. g(x) + 4 ®ONANCD, h(5) =

(1) 185
(2) 597
(3) 649
(4) 665

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 114 Question Id : 6326863447 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2sTNEBAD ST sed (S350 : 30)



If 27x3 — 54x2 4 36x — 8 = 0, then (1-2 4 ﬁ) +4 (1 +§) % .

27x3 — 54x2 1 36x — 8 = 0 LIONINCD, (1-2 +xiz) +4 (:r +§) =

421
(B
473
&
503
&) o
517
)
T
Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 115 Question Id : 6326863448 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 253 AD TS sed (S350 : 30)



If ax + b is the remainder when the polynomial 14x3 + 61x* + 77x + 30 is
divided by 7x2 + 13x + 6, then 3a + 4b =

14x3 4+ 61x%2 4+ 77x 4+ 30 D by 7x% + 13x + 6 © N0,

ax + b 3A0 @O, 3a + 4b =

(1) 0
(2) 21
(31 16
4) 14

Options :

1.¥ 1

2. %2

3.%3

4. % 4

Question Number : 116 Question Id : 6326863449 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
5309, 2PseBAD e seh (S350 : 30)



If px? + gx +r is exactly divisible by x* — 3x + 2 and leaves remainder 6

when divided by x + 1 thenp — g + 2r=

prZ+gx+7r OD DTVID x2 —3x + 2 D R0 DD SHOAW

x4+ 1 D 2rAoD S 6 D 3o A SOV p — g + 2r=

(1) 8
2y 7
(3) 5
4 4

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 117 Question Id : 6326863450 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2309, 253D e seh (S350 2.0 : 30)



The number of common solutions of the equations

3x —2y+7=0, 4y—6x+17=0 Is

3x—2y+7=0, 4y—6x+17 =0 O SEBETOE €502 330

QO

1)y 0O

@

(3) 2

(4) Infinite

90640

Options :
1.¥1
2. %)
3.%3
4. % 4

Question Number : 118 Question Id : 6326863451 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 2523 AD T sed (S0 : 30)



Ix+2y 7 2x+5 5
== =Sand Y =2 then x2y =
xy 5 xy 3 &

3x+2 7 2x+5 5 WAl
Y 258050 22 =2 e90ndh, x2y =
xy 5 xy 3 =

(1) i
(2) 45
(3) 15
(4) 125

Options :

1.¥ 1

2. %2

3.%3

4. % 4

Question Number : 119 Question Id : 6326863452 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 253 AD S sed (S350 : 30)

If|3x—7]|=2and x > 2, then x =

[3x — 7| =2 08050 x > 2, @O0 x =

1) 3
) 55
3 =

4 6



Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 120 Question Id : 6326863453 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D309, 25EBAD S sed (S350 : 30)

The arithmetic mean of 17 consecutive odd integers starting from 17 is

178 (*E0D0D), HSH 17 3 So3e @0EN 500

(1) 51
(2) 33
(3) 231
(4) 561

Options :

1. % 1

2.¥2

3.%3

4. % 4

Question Number : 121 Question Id : 6326863454 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 25TNEBAD T ses (S0 : 30)



The number of multiples of 7 occurring between 100 and 10000 is

100 SH805 10000 © ¢3S 0T 7 tHedered Sopg

(1) 1342
(2) 1364
(3) 1382
4) 1414

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 122 Question Id : 6326863455 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 253 AD S sed (S350 : 30)

4tan 150° + sin 240°

5c0s330° L3cot 2250 - Mim3=min=

=13
) =
11
(2 =
—13
(B) =
13
@ -
Options :
1.¥1
2. %2

3.%3



4. % 4

Question Number : 123 Question Id : 6326863456 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 25TNEBAD T ses (S0 : 30)

200 tan 250° 4 tan 340°
i : = —% =
i i tan 2009 — tan 1109

1+x*
(1) =
1+x
(2) =
1—=x2
(3) 1+x2
1—a
G4) 1+x
Options :
1. % 1
2. %2
3.9 3
4. % 4

Question Number : 124 Question Id : 6326863457 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 25TNEBAD ST sed (S0 : 30)



; A B B c c A
In a triangle ABC, tan— .tan—+ tan—.tan— + tan—.tan— =
2 2 2 2 2 2

A B B € c A
1320220 ABC S tan— .tan— +tan_.tan- + tan.tan- =

3
Mm 3
1
@ 3
(3) 2
4 1
Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 125 Question Id : 6326863458 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2309, 25eBAD e 5eh (S3C02.e0 : 30)

= ; : o
If cos@ = 1—: and 6 is not in 3™ quadrant, then tans =

cosf = I—j OGS B, rEs 50S SSLows, tan% =

(1 -3
@ 2
@ =
4 —

Options :



1% 1
2.2
3.%3
4. % 4

Question Number : 126 Question Id : 6326863459 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 253 AD S sed (53020 : 30)

The angle of elevation of the top of a tower when observed from the top
of a tree of height 10m on a river side is 45° and the angle of depression of
the reflection of the top of the tower in the river is 60° then the height of

the tower, in meters, is

2,8 58 2,DS &) 1000, ) e 5980 TBNEY D DG DHOD), &8
FWO((15) &3 5560 45° TSI sHOAN SO FPBSY ¢ TBNEY o),
§%e3Q)), 60° T HBFOS TSROV, FDHE0 Deh) (D.e>e)

(1) 5(2++3)
) 5(2-+3)
3) 10(2++3)
4)  10(2—+3)

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 127 Question Id : 6326863460 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



i) Algebraic and Geometrical Ability (Marks : 30)
22805, 25TNEBAD T ses (S0 : 30)

A right angled triangle ABC is right angled at B. If AB = 3 cm, BC = 4 cm,

then the length of the altitude from B to AC is

B 3¢ ©0o5erd) $DS ©02 8% |82H0S AB = 3 0.0, BC = 4
0.20. 0N, B 0D AC & ADS &35 63 Srcds)

) =

13
5
Gf =
13
B) —
12
@ 2
Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 128 Question Id : 6326863461 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 2523 AD T sed (S0 : 30)



In A ABC, £BCA = 90° and CD is perpendicular to AB. If AD = 4cm and

BD = 9 cm, then the length of CD (incm ) is

AABC &S £BCA = 90° 58050 CD, AB & @020 &0H. AD =4 0.5,
SHB030 BD = 9 0.8, @008 CD &8¢ (0.5, o)

(1) 5
(2) 6
3) 7
4 8

Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 129 Question Id : 6326863462 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2309, 25eBAD e 5eh (S3C02.e0 : 30)



If the lengths of the two diagonals of a rhombus are 10 cm and 24 cm, then

the perimeter of the rhombus (in cm), is

2.8 DDWVBIBOS JETO e 10 VoD, HBaA 24
20.20.60 oY, € HsNTIRD BN THEY §ered (0., o)

(1) 13
(2) 26
(3) 39
(4) 52

Options :

1. %1

2. % 2

3.%3

4.9 4

Question Number : 130 Question Id : 6326863463 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22305, 2sEBAD ST 5es (SS0e : 30)



The sides of a rectangle are in the ratio 6 : 5 and its area is 1470 cm? Then

the perimeter of the rectangle, in cm, is

2.8 &G B3| 2hare DAYB 6 1 5 HOAH T JIPF0 1470
23.290.50., @0ond)H & A e B|55) tHERFOS% (0.5.o)

(0
(2) 22
(3) 154
@) 44

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 131 Question Id : 6326863464 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2309, 253D e seh (S350 : 30)



A and B are the end points of a diameter of a circle whose radius is 3 cm. If
C is a point on the circle such that AC = CB, then the perimeter (in cms) of

the AABC is

3 V0., ErTRY S AT 98 FSTTOD A, B ©cDT0m.
83 259850 ) C @ Do AC = CB @3S DGO t5d) o0&, AABC
BE) HEREOI (0.D.oS)

(1) 6632
(2) 34342
(3) 6+3V2
4 6+3vV3

Options :

1.¥1

2. % )

3.% 3

4. % 4

Question Number : 132 Question Id : 6326863465 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 253 AD TS sed (S350 : 30)



If the radii of two circles are 12 cm and 7 cm and the distance between their
centres is 4 cm, then the number of common tangents that can be drawn

to the two circles is

12 D0.20,, 7 0., 5T @D )RS Boch S9&Fed> SoI°ed $0ESS
G530 4 0.8, @ONSNE, €8 HHToH ACHHIORS &ed D38

BB DOW

(1 4
(2) 3
3) 2
4 0

Options :

1. %1

2. %2

3.%3

4. ¥ 4

Question Number : 133 Question Id : 6326863466 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2523 AD TS sed (XA3Sem : 30)



The centroid of the triangle formed by the points (-1, 2) , (2, -3) and (4, -5)

s
(-1,2), (2, -3), (4, -5) @S DoNHOT DBICH (83223 BT

(1) (1,-1)
@  (23)

® G2
@ (23)

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 134 Question Id : 6326863467 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 253 AD S sed (53020 : 30)



The ratio in which the X-axis divides the line segment joining the points

(-3,-4)and (2, 3) is

(-3, -4) DBAW (2, 3) DoNHHOD DD T X-50 DHBoD

AFRIE
(1) S31d
(2) 4:3
(3) 3:4
(4) 4:3

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 135 Question Id : 6326863468 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2309, 253D e seh (S350 2.0 : 30)



A line has slope % and it makes an angle 8 with positive X-axis,

8
then sec? =

A& X-298 08 0 00 TR B e % 0N, Seczg

(1) 26
12
(2) o
26
(3) e
(4) 13
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 136 Question Id : 6326863469 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
5309, 2PseBAD e seh (S350 : 30)



If 8 is the acute angle between the lines y = 4x and y = —6x

then sin2 8=

y = 4x NOOW v = —6x @ ODO NG A 50 6

O I)CD, sin®f =

100
(1) 5
100
(2) =5
10
(3) g
529
) 62
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 137 Question Id : 6326863470 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2309, 253D e seh (S350 2.0 : 30)



If origin is the centroid of a triangle ABC and if A(5, -1), B(-7,6), then the

equation of the median through the vertex C is

€320 230 ABC 3308} 3052300 S0t DB A(S, -1), B(-7,6)
0N SNED, 00 C H O £FY Hcdsied Bar Davideo

(1) 5 +y=0
(2) 6x+7y =0
(3) Tx 12y =0
(4) b2y =10

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 138 Question Id : 6326863471 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22205, 2523 AD TS seb (A3 e : 30)



The equation of the line which makes an angle 135° with the positive

direction of X-axis and an intercept -3cm on the Y-axis is

X-298 0 ¢35 OIS’ 135° 500 TP, Y-290658 DO -3 T Hed HSe
Sar danESeao

(1) x—y+3=0
(2) x+y+3=0
(3) 3 s
(4) G e e

Options :
1. # 1
2.¥2
3.%3
4. % 4

Question Number : 139 Question Id : 6326863472 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 2523 AD e sed (S0 : 30)



If the line y = kx + 11 is parallel to the line 2x + 5y — 7 = 0, then the k =

y=kx+11 O 2x 4+ 5y — 7 = 0 8D 50 0530 0N, k =

m =
2
@ 2
—3
@ =
—2
@ =
Options :
1. # 1
2. %2
3.%3
4.¥ 4

Question Number : 140 Question Id : 6326863473 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 25 NES0D TS seh (ErEze : 30)



If (3, -4), (4, 1), (7, -6) and (8, 0) are the coordinates of the points AB,C and

D respectively, then the point of intersection of the lines AC and BD is

A, B, Ca8a%n D é':}'D(fUc@@ QAEFD5EN M (3, -4), (4, 1), (7, -6)
DB (8, 0) AN, AC, BD &9 B DO DO

M 18
@ (-185)
2
13
B {18
—13

@ (187)
Options :
1. %1
2. %)
3.9 3
4. % 4
Sub-Section Number : 3
Sub-Section Id : 632686381

Yes

Question Shuffling Allowed :
Question Number : 141 Question Id : 6326863474 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

(Marks : 10)

i) Statistical Ability
(3 Ce : 10)

ODET R e 5eh



If the arithmetic mean of —3, 5, 7, x, 8, 12 is 21, then x=

—3,5,7,x,8 12 @08 c0O500 21 @O0, x=

(1) 83
(2) 87
(3) 93
(4) 97

Options :

1. # 1

2. %2

3.%3

4. ¥ 4

Question Number : 142 Question Id : 6326863475 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
ODET R e 5eh (53325020 : 10)



The average score of a cricketer in 4 matches is 56 and that in 6 others is

46. Then his average score in 10 matches is

4 5350 ©S 2.8 (8360 TE, DD SF 5 56 BT BeHS 6 35S
OS @ HEN SFKD 469005, 10 S50 ©S @edd Hfew
P

(1) 50
(2) 48
(3) 52
4) 44

Options :

1.v1

2. %2

3.%3

4. % 4

Question Number : 143 Question Id : 6326863476 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
ODET R e 5eh (30360 : 10)



A data contains four 4's |, five 5's, six 6's and seven 7's. Then the arithmetic

mean of the data is

2,% AT0F0S e 4 €0, ¢ 5 e, e3¢ 6 e, DAL Dk Tew,

01 0N, &8 ST 04D 05NENO DeNd

63
M 5
11
2)
63
B)
2
@ =
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 144 Question Id : 6326863477 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
TOWEET R eV geh (3775020 : 10)



A data contains the natural numbers 1, 2, 3, ... 10 with frequencies

12,22 32 102 respectively, then the median of the data is

28 OTOFAW 1, 2, 3, ... 10 ©®F dFe Dowgen 12,2232, ..10% @
P2 E e EON & d) L00®, &8 S04 o 5ed 0

]

(1) 6
(2) 7
(3) 8
4 9

Options :

1. % 1

2. %2

3.¥3

4. % 4

Question Number : 145 Question Id : 6326863478 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
ODET R e 5eh (300 : 10)



The median of a data containing 13 observations is 26. If 6 more
observations 13, 15, 21, 27, 36, 42 are added to the data, then the median

of the new data containing 19 observations is

13 HBZOIOXD DR &) .8 S04 0 5HedAD 26, ROEIT 6
HBReddew 13, 15, 21, 27, 36, 42 ) @30 &8 SToFTDE
EDDINCD, 19 DOREED EDB Srredd SS&r0¥0 B0E)

a0 5550
(1) 25
(2) 26
(3) 27
(4) 28
Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 146 Question Id : 6326863479 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
OWET R e 5eh (33002 : 10)



The mode of the following frequency distribution given in the table,

corrected to two decimal places, is

& 1800 HEES 2H5BS ;S:)Ss DTy arTuFESsY, Bocd
CAF0% T POB) DIB0D IR

Class
o 10-20 | 20-30 | 30-40 | 40-50 | 50 - 60
S ied .
Frequency
52580 21 36 34 28 17
(1) 36.00
(2) 32.50
(3) 24./8
(4) 28.82
Options :
1. %1
2.%2
3.%3
4.4 4

Question Number : 147 Question Id : 6326863480 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
ODET R e 5eh (3¢03.e0 : 10)



The arithmetic mean of some numbers is 18.5 and their mode is 16.2.

Then their median is

5§70 ODE @0 2500 18.5 sDOA 20V TS0 16.2 90N I)CD
VAT IS WA TSN

(1) 167
(2) 17.83
(3) 17.73
4) 187

Options :
1. # 1
2. %2
3.¥3
4. % 4

Question Number : 148 Question Id : 6326863481 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
ODET R e 5eh (30360 : 10)



When a fair die is tossed 3 times, the probability of getting a sum 14 is

3 Dar)S 8 rDEOD DS TV T3 ST @0Te Jwdo 14
e3NE EIGHY DOT5eb

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 149 Question Id : 6326863482 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
ODET R e 5eh (30360 : 10)



The probability of getting exactly 5 heads when 8 fair coins are tossed

simultaneously is

8 Nar)8 ¥ THOMN 28 T8 HHG DG DAIBOMT 5 D en

ST EIDBY Hogrdseh

49
() 5
s
@) =
21
B) =
9
3 =
Options :
1. %1
2,92
3.%3
4. % 4

Question Number : 150 Question Id : 6326863483 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
ODFET R e 5eh (3020 : 10)



If two dice are thrown, the probability of getting the sum 7 is

B0 aFDEOD DVBINCD T3NS BHOB @03 VB0 7 5]

BVTATN ISV T PN T

1
1 5
1
@ 3
1
6) =
1
4) =
Options :
1.% 1
2. %2
3.%3
4.4
Communication Ability
Section Id : 63268651
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50

Enable Mark as Answered Mark for Review and Clear

Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 632686382
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 6326863484 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) Q.No.151to Q.No.155



Obstinate attachment to the ideas of a particular group is called

) diplomacy
(2)  statesmanship
) higotry

) equanimity

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 152 Question Id : 6326863485 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) Q.No.151 to Q.No.155

Deeply attached friends are sometimes called  friends.
(1) heart
(2) bosom
(3) head
(4) casual
Options :
1. % ]
2.9 2
3.%3
4. % 4

Question Number : 153 Question Id : 6326863486 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) Q.No.151 to Q.No.155



He was terribly when he heard about his friend’s accident.

) grateful

) enthusiastic
(3) depressed

) inspired

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 154 Question Id : 6326863487 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) Q.No.151 to Q.No.155

An exaggerated opinion of one’s self is called

(1) egotism

(2) agnosticism
(3) justification
(4) confession

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 155 Question Id : 6326863488 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) Q.No.151to Q.No.155



One of a class is called a

(1)  specimen
(2)  acumen
(3)  vitamin
(4)  stamina
Options :
1.¥ 1
2. % 2
3.% 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 632686383
Question Shuffling Allowed : Yes

Question Number : 156 Question Id : 6326863489 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No.156 to Q.No.160

The synonym of ‘acknowledge’ is

(1)  admit
(2)  reject
(3) remit

(4)  confuse

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 157 Question Id : 6326863490 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No.156 to Q.No.160



The synonym of ‘mutual’

(1) common

(2)  individual

(3)  separate

(4)  unconventional

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 158 Question Id : 6326863491 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No0.156 to Q.No.160

The antonym of ‘incessant’ is

(1)  continuous
(2) intermittent
(3)  perennial
(4)  perpetual

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 159 Question Id : 6326863492 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No.156 to Q.No.160



The synonym of ‘resentment’ is

) bitterness

) betterment
(3) contentment

) rejuvenation

Options :
1.¥ 1
2. %2
3.%3
4, % 4

Question Number : 160 Question Id : 6326863493 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No.156 to Q.No.160

The synonym of ‘bliss’ is

(1) sorrow
(2)  ecstasy
(3)  lust
(4)  indifference
Options :
1. % 1
2.9 2
3.%3
4. % 4
Sub-Section Number : 3
Sub-Section Id : 632686384
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 6326863494 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verb (Tense and Voice) Q.No.161 to Q.No.165



| have been working here 1990.

(1) from
(2)  since
(3) il
(4) to

Options :
1.% 1
2.2
3.%3
4. % 4

Question Number : 162 Question Id : 6326863495 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verb (Tense and Voice) (.No.161 to Q.No.165

We look forwardto  you.

(1) meet

(2) met

(3)  have met
(4) meeting

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 163 Question Id : 6326863496 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verb (Tense and Voice) Q.No.161 to Q.No.165



realised the nature of the job earlier, | would not have
accepted it.

(1) It have had
(2)  Had!been
(3) Hadl

(4)  Havel

Options :
1. # 1
2. %2
3.3
4. % 4

Question Number : 164 Question Id : 6326863497 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Verb (Tense and Voice) (Q.No.161 to Q.No.165
If wishes horses, this would not have happened.
(1) was
(2) were
(3) has
(4) is

Options :

1. % 1

2.9 2

3.%3

4. % 4

Question Number : 165 Question Id : 6326863498 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verb (Tense and Voice) (.No.161 to Q.No.165



Scarcely she gone when | read her letter.

(1)  have
(2)  had
(3) has
(4) did
Options :
1.% 1
2.9 2
3.%3
4, % 4
Sub-Section Number : 4
Sub-Section Id : 632686385
Question Shuffling Allowed : Yes

Question Number : 166 Question Id : 6326863499 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No.170

You should come of your frame of mind, if you wish to
succeed.

(1) up
{2) out
(3) on
(4) in

Options :
1.% 1
2.2
3.%3
4. % 4

Question Number : 167 Question Id : 6326863500 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No.170



Being abreast times is the quality of a good researcher.

(1) in
(2) of
(3) up
(4) on

Options :
1. % 1
2,92
3.%3
4. % 4

Question Number : 168 Question Id : 6326863501 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Phrasal Verbs & Idioms (Q.No.166 to Q.No.170
His arrival the ice to speed up the much-needed dialogue.
(1)  broke
(2) took
(3) looked
(4)  broken

Options :

1.¥ 1

2. %2
3.%3
4. % 4

Question Number : 169 Question Id : 6326863502 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No.170



The bank helps people business.

(1) setaside
(2) setoff
(3) setup
(4) setout

Options :
1.%1
2. %2
3.3
4. % 4

Question Number : 170 Question Id : 6326863503 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No.170

That Lawyer hardly takes criminal cases.

(1) off
(2) up
(3) of

(4) by

Options :

1. %1

2.9 2

3.%3

4. % 4

Sub-Section Number : 5
Sub-Section Id : 632686386
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 6326863504 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions (Q.No.171 to Q.No.175



They jumped my proposal.

for

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 172 Question Id : 6326863505 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Articles & Prepositions Q.No.171 to Q.No.175
She took exception _ his behaviour.
(1) to
(2) of

(3) from

(4) up

Options :

1.1

2. %2

3. % 3

4, % 4

Question Number : 173 Question Id : 6326863506 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175



Both of them came to amicable agreement.

(1) a
(2) an
(3) the
(4) of

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 174 Question Id : 6326863507 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Articles & Prepositions Q.No.171 to Q.No.175
Is true love, love first sight?
(1) to
(2)  upon
(3) at
(4) of

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 175 Question Id : 6326863508 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175



Who is afraid the robbher?

(1) for
(2) of
(3) off
(4) by
Options :
1. %1
2.9 2
3.%3
4. % 4
Sub-Section Number : 6
Sub-Section Id : 632686387
Question Shuffling Allowed : Yes

Question Number : 176 Question Id : 6326863509 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No.180

A malfunction owing to an error in the program is called

) browser
(2)  bug

) hyte

) cache

Options :
1. # 1
2.2
3.%3
4. % 4

Question Number : 177 Question Id : 6326863510 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No.180



Cookie is a

(1)  cracker
(2)  cursor
(3) desk-top
(4)  textfile

Options :
1.% 1
2. %2
3.% 3
4.4

Question Number : 178 Question Id : 6326863511 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No.180

Emoiji is a small digital

(1) font
(2)  hacker
(3)  firewall
(4)  image

Options :
1. % 1
2. %2
3.%3
4. 4

Question Number : 179 Question Id : 6326863512 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No.180



Phishing is an e-mail that appears to be , but not.

) illegitimate

)  economical
(3) legitimate

) unofficial

Options :
1. # 1
2. %2
3.3
4, % 4

Question Number : 180 Question Id : 6326863513 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Computer Terminology (Q.No.176 to Q.No.180
‘Peripheral’ is the name of a/an device attached to a
computer.

(1) internal

(2)  external
(3) platform
(4)  byte

Options :

1. %1

2.9 2

3.%3

4. % 4

Sub-Section Number : 7
Sub-Section Id : 632686388
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 6326863514 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology O.No.181 to Q.No.185



Stopping an activity for an agreed period of time is

(1)  moratorium
(2)  mortgage
(3)  imbroglio
(4)  injunction

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 182 Question Id : 6326863515 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No.181 to Q.No.185

To depict a process or a series of parallel processes one would use

) treediagram

(2)  interrelation graph
) fishbone diagram
) process mapping

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 183 Question Id : 6326863516 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology O.No.181 to Q.No.185



Confidential Reports of employees obtained on annual basis is an
example of

(1)  control of employees

(2)  instilling fear in employees
(3) MIS

(4)  merit rating of employees

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 184 Question Id : 6326863517 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology (Q.No.181 to Q.No.185

A means used to encourage creative thinking is called

) manipulation

) duplication
(3)  provocation

) brainstorming

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 185 Question Id : 6326863518 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology (Q.No.181 to Q.No.185



An actuary’s responsibilities include calculating

) quality of life

) life expectancy
(3)  acquisition

) requisition

Options :

1. %1

2.9 2

3.%3

4. % 4

Sub-Section Number : 8
Sub-Section Id : 632686389
Question Shuffling Allowed : Yes

Question Id : 6326863519 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (186 to 190)

Read the Passage and answer the questions Q.No.186 to Q.N0.190



There has never been a more urgent need to restore damaged
ecosystems. The COVID-19 pandemic is a direct result of the
degradation of natural areas, species loss, and exploitation. It is time
to change how we cultivate our land, use our soils, exploit coastal and
marine ecosystems, and manage our forests. India must participate
actively in the UN Decade on Ecosystem Restoration. Ten years of
sustained action will help India end poverty by enhancing livelihoods;
to combat climate change by reviving natural carbon stores; to halt
the collapse of bio-diversity by rebuilding homes for wildlife.
Ecosystem restoration benefits people and nature. For a better
future, India must work towards creating food systems that work with
nature. Empowering small-scale farmers and women farmers and
challenging social norms and business practices are key. This can be
achieved through capacity building and education.

Globally, we must reduce net carbon dioxide emissions by 45% by
2030. And we must reach net-zero emissions by 2050 to have a hope
of achieving the 1.5°C Paris Agreement target. India needs to work
towards this by transforming energy systems, land use, agriculture,
forest protection, urban development, infrastructure and lifestyles.

Sub questions

Question Number : 186 Question Id : 6326863520 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

COVID-19 is chiefly attributed to

(1) decrease in natural spaces.

(2) decrease in healthcare facilities.
(3) exploitation of natural habitat.
(4) healthier ecosystems.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 187 Question Id : 6326863521 Question Type : MCQ Option Shuffling : No Display Question



Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The processing problem that humanity needs to address in the context
of ecological crisis is

) hazards caused by biodiversity.

) COVID-19 awareness.

(3) reversal of wild-life protection measures
) maintaining balance in ecosystem.

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 188 Question Id : 6326863522 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Some of the changes that are recommended for ecological balance are

(1) The way we farm our lands without causing damage to
ecosystem.

(2) The way we treat fellow human beings.

(3) Exploiting coastal, marine life and soil erosion.

(4) Upholding progress unmindful of the damage to the environs.

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 189 Question Id : 6326863523 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



At present we are experiencing climate change. Itis

(1)  highly warranted.

(2) in the interest of wildlife.

(3) detrimental to human and natural resources.
(4) anatural progression that one cannot stop.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 190 Question Id : 6326863524 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We need to work out a system that allows

(1) man to function in contravention of natural laws.
(2) compatibility between man and nature.

(3) friction between wildlife and marine life.

(4) conflict between man and marine life.

Options :

1. %1

2.¥2

3.%3

4. % 4

Sub-Section Number : 9

Sub-Section Id : 632686390
Question Shuffling Allowed : Yes

Question Id : 6326863525 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (191 to 195)

Read the Passage and answer the questions Q.No.191 to Q.No.195



| have been unusually fortunate as a writer, in that my life has given
me more than one gold nugget of good and bad feeling or experience.
To begin with, | had India, that inexhaustible horn of plenty, that
endlessly nourishing well. After that | had migration because the
journey, | made from East to West was made by millions of others.
Migration is an old subject in America, but now it’s the world’s subject
too. For good or ill this is the age of the migrant, the time in human
history in which more people than ever before have ended up in places
in which they did not begin, driven by economic necessity, political
turmoil, or simply the lure of the bhig city’s bright lights. This too
became my subject, thanks to the accidents of my life. And then, there
is a third, the one that preoccupies me more and more — the desire to
show how the world joins up, how ‘here’ connects to ‘there’, how the
little boxes we live in now open out into other little boxes often very
far away; and how in order to explain our lives, we often need to
understand things happening on the other side of the world. | once
wrote that the British didn't fully understand their own history
because so much of it happened overseas.

Sub questions

Question Number : 191 Question Id : 6326863526 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The author feels fortunate as a writer because life has given him

) afantasy world.

) agolden spoon.
(3) prosperity.

) rich experience.

Options :
1. %1
2. %2
3.%3
4.9 4



Question Number : 192 Question Id : 6326863527 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the second point that the author elaborates?

) economic necessity
) migration

(3) different cultures

) his life

Options :
1. # 1
2.9 2
3.%3
4, % 4

Question Number : 193 Question Id : 6326863528 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
By ‘nourishing well’ the writer implies

(1) a treasure trove of creativity.
(2) a well without water.

(3) his good fortune.

(4) his bright future.

Options :
1.9 1
2.% 2
3.%3
4, % 4

Question Number : 194 Question Id : 6326863529 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the theme that the author is increasingly interested in?

(1) chaos in the world
(2) inner turmoil

(3) interconnectedness
(4)  British history

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 195 Question Id : 6326863530 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The British fully didn’t understand their history because of their

(1) reluctance.

(2) colonial past.

(3) inexhaustible wealth.
(4) progressive mentality.

Options :

1. %1

2.9 2

3.%3

4. % 4

Sub-Section Number : 10
Sub-Section Id : 632686391
Question Shuffling Allowed : Yes

Question Id : 6326863531 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (196 to 200)

Read the Passage and answer the questions Q.No.196 to Q.No.200



More than the biological coronavirus, civilization is indeed
experiencing an excruciating world-wide pandemic of barriers and
barricades. The fence is a testimony of death and terror of race and
ultranationalism. If one listens carefully, one can hear the whispering
voices from below, the voices the rich and the powerful refrain from
hearing. How long will they refrain from hearing? How long will their
voices go unheard from across the fences, voices fortified with the
words of resistance not for rewards but for the vision of peace and
freedom, of human rights and dignity? Absorbed in the landscape, |
begin to imagine a world undivided by barriers, a global consciousness
unabashedly pro-diversity, and a land that gives you a deep sense of
belonging. The world needs to rise above the frenzy of labels of race,
gender, caste, religion and political bias. It needs to address as one
people the issues that are far more crucial to humanity. Threats and
detentions clash with the deep sense of peace that | experience,
resonating a flash of some utopian borderless world that might
someday become a reality.

Sub questions

Question Number : 196 Question Id : 6326863532 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The author used ‘the fence’ in the meaning of

freedom and joy
dream and reality
an imaginary world
divisive lines

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 197 Question Id : 6326863533 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The author envisions a world marked by

(1) fences and fitters

(2) global hazards

(3) diversity and attachment
(4) threats and detentions

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 198 Question Id : 6326863534 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The voices of resistance are heard asking for

) freedom and dignity

) more privileges

) barriers and barricades
) dreams of a landscape

Options :
1.¥ 1
2. % 2
3.%3
4. % 4

Question Number : 199 Question Id : 6326863535 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘The voices from below’ refers to

(1) affluent sections

(2) underprivileged people
(3) ultranationalism

(4) migrants

Options :



1. %1
2.2
3.%3
4. % 4

Question Number : 200 Question Id : 6326863536 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the hope that the author nurtures?

(1) All people becoming rich.

(2) A world of peace and harmony.

(3) the world becoming more ruthless.
(4) A world of autocracy and violence.

Options :
1. %1
2.9 2
3.%3
4. % 4



